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N = 200, (B) = 107, (a) = 100, (a p) = 51.

ENGLISH VERSION

Instructions : (1) All questions carry equal marks.

(2) Marks are indicated on right side.
(3) Graph papers will be given on request.

1 (a) State and prove addition law of probability. 8

b If P4 = 0.7, PB) = 0.6 and P(4nB) = 0.56 then 6
find
@ P(4'nB)
i) P(4'UB)
(i) P(4/B)

(© A box contains 6 black and 4 white balls two balls 6
are taken at random from it. Find the probability that
@) both balls are black

(1) both balls are white
@1) both balls are of different colours.

OR
1 (a) State the uses and the properties of a Poisson 8
distribution.
(b) Prob. distribution of a r.v. x is as follows : 6
X: 0 1 2 |3 4

p(x):[0.10 | k| 030 |k |0.10

Find :
@ K
() E(x)
(i) V(x)

NU-7851] 4 [ Contd...



(¢) Eight coins are thrown simultaneously. Show that 6

37
the prob. of getting at least six heads is 556

2 (a) Explain the correlation coefficient method of Spearman. 8

(b) Find the correlation coefficient from the following 12
data :
x| 10-20( 20-30 | 30-40 | 40-50 50-60
Y
20-30 3 2 3 - -
30-40 - 5 9 6 -
40-50 - 2 4 3 3
OR
2 (a) Define regression coefficients. State its properties. 8

b) x+ 2y —5=0and 2x + 3y — 8 = 0 are the two 12

regression line equations. 6)26 =12 then find out

2
x,y,0, and r.

3 (a) Explain simple random sampling method and 10
stratified random sampling method.
(b) 3,5, 7,9, 11 are observations of a population. 10
Obtain all possible samples of size 2 without
replacement. Verify the following results.

@ E¥)=y
. N-n
@ (5 { }52.
(y) Nn
OR
3 (a) Explain the definition of A.P. and G.P. also 10
obtain its formula for T, and S,.
b) 5 + 55 + 555 ....... find sum of first n terms. 5

(¢ Sum of first 12 terms of an A.P. is 28 and the sum 5
of its first 28 terms 1s 12. Find the sum of its
first 40 terms.
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4 (a) Write short note on cost of living index number. 8
() Find Ij, Ip, I Ipp, I, p from the following data. 12
Commodities Base Year Current Year
Price | Quantity Price | Quantity
A 5 10 10 15
B 9 12 12 7
C 12 18 15 15
D 10 5 12 6
E 6 6 18 10
OR
4 (a) Explain the following terms : 8
@ Objective function
(1) Constraints
(1) Optimum solution
@av) Slack and Surplus Variable
(b) Solve the following LPP by using graphical method. 6
If 2x + y < 40, 2x + 5y < 120 then obtain the
values of x and y maximize Z = 3x + 4y.
() For a normal distribution first quartile = 73 and 6
S.D. = 15. Find
@ Medium
(1) Quartile deviation
(1) Mean dewviation.
5 (@) What is meant by business forecasting ? Explain 10
the methods used in business forecasting.
(b) Fit the second degree curve to the following data 10
and estimate the price of the year 2017.
Year: | 2011|2012 | 2013 | 2014 | 2015
Price: | 7 9 10 13 18
OR
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5 (a)
(b)
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Explain the meaning of association and its type.

From the following data obtain @ and y and

2y
l+y2

verify that ¢ =

N = 200, (B) = 107, (a) = 100, (a p) = 51.
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